
In[29]:= H* Quiz 7 AP Calculus BC *L
g@x_D := H3 - xL ê Hx + 1L;
Simplify@Hg@x + hD - g@xDL ê hD

Out[30]= -
4

H1 + xL H1 + h + xL

In[31]:= Limit@%, 8h Ø 0<D

Out[31]= :-
4

H1 + xL2
>

In[32]:= Plot@8g@xD, g'@xD<, 8x, -5, 5<D

Out[32]=
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H* Quiz 7 AP Calculus BC *L

In[1]:= f@x_D := H1 ê xL + HSqrt@1 - xDL;

In[25]:= Simplify@Hf@x + hD - f@xDL ê hD

Out[25]=
- 1 - x + 1 - h - x - 1
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In[26]:= Limit@%, 8h Ø 0<D

Out[26]= :-
1

2 1 - x
-

1

x2
>



In[28]:= Plot@8f@xD, f'@xD<, 8x, -3, 3<, PlotRange Ø 8-6, 6<D

Out[28]=
-3 -2 -1 1 2

-6

-4

-2

2

4

6

2   fiesta7bcsol.nb


